


ANKEFEEIBIE (FEID 5
** m| (1)
S=1:500

=0




ANKEERIBEIE (FEID 4
*Fm (2)

=\




AINKEERBISE (FEID 4
*Fom (3)
S=1:500

A

BEL 145 %R T

135

Xt=—tt &
= Q
.
} \ NS
> R
Q
N S
X
T N __/‘
DN ° A\
% Q N 1ol //_\
SO & N
\ = ) \ f Z. é Z
= S = e )
=\ R P s = = = =
) J 3 %4 Z S
— 4171 = #
<~ ST s K " -~
7




—2.000mm__

avoly—trJOY o E%E

é% Rigary)—+F
2
N EAH#
aAvyu—+
E#far oy y—+
% %
£ %
gaT EEEMARME maT
ERL Kzt & ERT
s
E = —
= 7
T R H 5 Ak 4
g\ <
Kik/ 4 F

RETL - #

EEH A TN AR

H=1.5m% 4 &

avy!

1, 500mm

Xiga o )—+
A

aAvyy—+F

R TAZZE W m X

9, 000mm

[H]
HET Kizf-&
ERT
( —
g =
E —
S
| [
o~ —_—

EFEMEE ERT
| 18ET

i
, 000mm

1
~

NKEASAALT

H=1.omEER A 7

2, 000mm

Xy U+

1, 500mm

BRaVH)—h

5, 500mm

Kik/ 4 T




& m = 5
F ik B
(RCES HEER hie48) (HEE, TEE EHBIEER)

. & £ 6,600mm .
20mm #r & 6,560mm 20mm
200mm X [E 6, 160mm 200mm

— FE T mEE
& S , 5, 800mm '
~ = 600mm____4, 600mm___600mm
= FRI7IL M
| . E
=
: —13
3, 000mm 3, 000mm | .
T 5 . N
T om K & & 6,600mm
T
E
s
3
0 [T I - i
s
E|E
E|E
oo
oo
] o
< o
X | _
| | g_
[ [l IR N Si
3, 000mm 3, 000mm




